TH2FENT AXOENE R B OB ET EEE KT (FEEE)

_— EEE=E (M) e E*E (ha)

= 556% | 5% pen 556% | 5% pen
2F 198,382 49,471 247,853 36,369 8,839 45,208
dtimE 23,409 8,633 32,041 4,277 1,582 5,858
F 5F 4,644 462 5,106 745 76 821
B F 4,868 1,192 6,060 887 217 1,104
B 3,203 622 3,825 592 116 707
o H 28,208 17,159 45,367 4,908 2,942 7,850
iz 22,029 1,374 23,403 3,661 234 3,895
z B 2,301 34 2,334 418 6 424
% W 7,010 141 7,151 1,324 27 1,351
w K 10,366 15 10,381 1,909 3 1,912
HE 6,598 6,598 1,309 1,309
% E 615 5 620 123 1 124
F oE 4,386 3,588 7,974 794 644 1,438
R R

BN

E ) 18,287 9,832 28,119 3,281 1,775 5,056
E W 4,432 1,003 5,435 819 189 1,007
V=T 1,815 379 2,194 337 68 404
5 1,992 326 2,318 382 62 443
ITET! 371 1 373 68 0 68
& % 3,813 258 4,070 622 41 663
g B 4,585 4,585 962 962
% [ 720 720 138 138
E A 2,877 191 3,068 560 41 601
= & 861 38 899 172 8 181
OB 3,719 345 4,064 718 66 783
m AR 2,497 7 2,504 491 1 492
A B 1 1 0 0
E E 3,538 258 3,796 699 51 749
= B 110 110 21 21
Il

B 86 86 17 17
5 1B 1,583 104 1,687 297 21 318
M W 1,977 88 2,065 360 17 377
L B 1,875 51 1,926 355 9 364
o 4,663 48 4,711 903 9 912
m B 83 83 18 18
E N 191 191 39 39
F IE 380 380 76 76
= A 338 338 68 68
= M 834 245 1,080 165 47 212
it =B 195 1,851 2,047 39 350 390
E 5 47 47 9 9
BE K 2,780 1,146 3,926 525 223 748
x 9 771 771 156 156
= I 8,241 8,241 1,642 1,642
ERE 7,050 72 7,123 1,466 14 1,480
s 31 31 19 19
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